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EHEERNRE SH7EE SABBERE

% i1 BRE - BIRTE Bify % B B @ ® # wmE
ERNEE 28,575, 852
RIEAE 28,575, 852
Wi RE 28,575, 852
REE R 3,514, 443
REER 3,514, 443
1-1 SAE%Em 1.00 299, 566 299, 566
=
1-2 #4EWR 2EE'AY) 19.00 126, 237 2,398, 503
]
1-3 BHHERK 1.00 816, 374 816,374
=
KERE 1,732,923
KEREI 4389, 339
1-4 BRIz EEN 1.00 265, 200 265, 200
=
1-5 KEHEI® 14.00 12,186 170, 604
Hh
1-6 KEHEIQ 5.00 10, 707 53,5635
Hh
KEREID 292, 464
1-7 KERE THK 24.00 12,186 292, 464
=
KEREIQ 951,120
1-8 4R OKERED) 1.00 951, 120 951,120
=




SHBERNRE SH7EE ZBRERE
% b3 3R - AR B £ i & # i)
EWEIRE 9, 689, 030
gMISUY FUBE 458, 316
1-9 875y FURESREHEROD 24.00 13, 969 335, 256
s
1-10 37509 b URERHERQ 10. 00 12, 306 123, 060
=
YISy FURE 335, 256
-1 {EMTS 20 b UREBERHERR 24.00 13, 969 335, 256
=
TH) RN ERE 217, 632
1-12 7451 i3 A B S HHRR 8.00 27,204 217,632
=
THYEE#RERE 2,777,346
1-13 BEHBRAES RN 66. 00 42,081 2,771, 346
=
SHTERER 5, 900, 480
1-14 2FHEB @IS 20 FURE 1.00 1, 734, 000 1,734, 000
) %
1-15 2SR EMIS5>y FURE 1.00 1,237, 680 1,237, 680
) %
1-16 DIEER (7Y ZBEHERE) 1.00 368, 000 368, 000
=
1-17 2HEEg (7Y BE#BERAE) 1.00 2, 560, 800 2,560, 800
=®
FinAE 2,297,133
Al 1,457,577




EHEERNRE SH7EE SABBERE

2 Lz Mg - IR B B 8 B & 4 =
1-18 At B AR 1.00 93, 867 93, 867
e
1-19 REFRE 3.00 64,424 193,272
5
1-20 FiEEtmig 3.00 112,722 338, 166
5
1-21 REEHRE 3.00 64,424 193,272
Hh
1-22 BAHEEH 1.00 639, 000 639, 000
EN
fRAR 839, 556
1-23 RRERARAT 9.00 93, 284 839, 556
]
MARKRRAE 8,524,224
MARKRRAE 8,524,224
1-24 FIAKRAE 6.00 1,420, 704 8,524, 224
=
15 - s 261, 300
15 - s 261, 300
1-25 HHIHH 1.00 107, 300 107, 300
=
1-26 FRIERE 1.00 77,000 71,000
=
1-21 B 1.00 77,000 71,000
=
EEEE 2,556, 799
HEM 200, 000
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BH7EE SMBREAE

% b IR - mAkTiE =X = B O &= 28 W =

1-28 £HBHES 1.00 200, 000 200, 000

=
L 2,311,799
1-29 REERM 1.00 2,311,799 2,311,799

=
BIEERE 45, 000
1-30 lEIEERAE 1.00 45, 000 45, 000

=®
EiER{E 1,373, 991
BiEAE 1,373, 991
BiEAE 1,373, 991
REERDER 268, 800
REERDER 268, 800
2-1 AERREDOEE BROEHE 1.00 268, 800 268, 800

1BH
RS ORE 516, 650
RS ORE 516, 650
2-2 BHDER 1.00 301, 350 301, 350

=
2-3 BESEEMY EELEE 1.00 215, 300 215, 300

=
E7Y T DER 468, 150
E7Y T DER 468, 150




EHEERNRE SH7EE SABBERE

% i1 BRHE - BRTE Bify % B B i * # wmE

2-4 BEHOER 1.00 301, 350 301, 350
]

2-6 ETYVIRE 1.00 166, 800 166, 800

BT

(D2 20, 150

R 20, 150

2-6 AFRARE S 1.00 20, 150 20, 150
=

EEEE 100, 241

EHARE 12,7317

2-1 EBRAME 1.00 12,7317 12,737
=

ZEREEH 70, 708

2-8 EEFH 1.00 44, 400 44, 400
=

2-9 =5fEH 1.00 26, 308 26, 308
=

i 16, 796

2-10 k& 1.00 16, 796 16, 796
=




BEHRERER

BH7EE SMBREAE

% g g - BAKSTE By = il ® B W=
EENEE 27,736, 296
HRE 20,884,696 x 61.2% — 7,729 12, 773, 704
HEEXE 27,736,296 + 12,773,704 40, 510, 000
BRI 736,650 + 102, 906 839, 556
BEEAE 736, 650
EERE 102, 906
T DAt R f 736,650 x 53.85% ( 35% =+ (1 — 35%) ) 396, 686
BRI 839,556 + 396, 686 1,236,242
—REBRES 1,236,242 x 53.85% (35% + (1 — 35%) ) — 1,958 663, 758
AEREE 1,236,242 + 663, 758 1,900, 000
BB E T 40,510,000 + 1,900, 000 42,410, 000
BRI 1,273,750 + 100, 241 1,373,991
EEAGE 1,273,750
EERE 100, 241
T DAt R 1,273,750 x 53.85% ( 35% + (1 — 35%) ) 685, 914
BRI 1,373,991 + 685,914 2,059, 905
—REEES 2,059,905 x 53.85% (35% =~ (1 — 35%) ) — 9,163 1,100, 095




BHEERER SH7EE STERERE
% R B - Bkt E Bl 2 il * % =
REfE 2,059,905 + 1,100,095 3,160, 000
BTl 42,410,000 + 3,160,000 45, 570, 000
HEBRFMRLE 45,570,000 x 10.00% 4,557, 000
WATER 50, 127, 000
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TH7HE ZABRERE

H5:1-1
&F  REER 1X&Y
2 Lo HKE - BT B = B M ® & W = i %
B FEHE
A 1.00 60, 600. 00 60, 600
=570
A 3.00 52, 300. 00 156, 900
RIS AT
A 1.50 41,100. 00 61, 650
REBF
A 0.50 34, 900. 00 17, 450
AN EXZNOY
% 1.00 296, 600. 00 2,966
& B 1YE%HEH - 1.00K 299, 566. 00 299, 566
&5 :1-2
B BMERRQEESY) HEED)
2 Lo HE - BT B = B ® & W = H %
RIEWHBE
A 2.00 28, 700. 00 57, 400
vy 2t
=] 2.00 33,794.00 67,588 4.70H / 8H
AN EXZNOY)
% 1.00 124, 988. 00 1,249
& B 1YEZHES - 1.00[E 126, 237. 00 126, 237
&5 13
275 - BRER EXT
2 Lo K - BT B = B M ® & W E w %
RIS AT
A 17.00 41,100. 00 698, 700
REEHE >4 kN2 2L
H 17.00 6, 922.00 117,674/6.00H / 8H
& B 1E%HEH - 1.00K 816, 374. 00 816, 374
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TH7HE ZABRERE

H5:1-4
27 - SREEEN 14y
2 Lo HKE - BT B = B M ® & W = i %
ZIEH/KES
=] 17.00 15, 600. 00 265, 200
& it 1E%HEH - 1.00K 265, 200. 00 265, 200
&5 :1-5
&% KERELID 1B3HY 21h=)
2 Lo K - BT B = B M ® & W E E %
REEHE >4 kN2 2L
H 1.00 3,616.00 3,616 2.00H / 8H
T FRP D 70PS%E! 3.0t
H 1.00 86, 558. 00 86, 558 8H
=570
A 1.00 52, 300. 00 52, 300
RIS AT
A 1.00 41,100. 00 41,100
REBF
A 2.00 34, 900. 00 69, 800
AN EXZNOY)
% 1.00 253, 374.00 2,533
& B YEZRES - 21. 004 = 12, 186. 00 255,907
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&5 :1-6
&% KERELIOQ 1TEHY (23.94h5)
2 Lo HKE - BT B = il | W = i %
REE 4 kN2 2
=] 1.00 3,616.00 3,616 2.00H / 8H
EM FRP D 70PS%E! 3.0t
=] 1.00 86, 558. 00 86, 558 8H
i3]
A 1.00 52, 300. 00 52, 300
RIS
A 1.00 41,100. 00 41,100
REBF
A 2.00 34, 900. 00 69, 800
AN EXZNOY
% 1.00 253, 374.00 2,533
& B YEZRES - 23. 904 = 10, 707. 00 255,907
&H5 11
2% KERAEDHK 1B3Y 21h=)
2 Lo HE - BT B = il | W = i %
REE 4 b2 2L
=] 1.00 3,616.00 3,616 2.00H / 8H
T FRP D 70PS%E! 3.0t
=] 1.00 86, 558. 00 86, 558 8H
I E A
A 1.00 52, 300. 00 52, 300
RIS AT
A 1.00 41,100. 00 41,100
REBF
A 2.00 34, 900. 00 69, 800
AN EXZNOY
% 1.00 253, 374.00 2,533
& B YEZRES - 21. 004 = 12, 186. 00 255,907
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&5 :1-8
2% R OKERED 14y
2 Lo HKE - BT B = B M | W = i %
S HTEER KERED
= 1.00 951, 120.00 951,120
& it 1YEZHEH - 1.00K 951, 120. 00 951,120
&5 19
& BTS00 b UBAERMERERO 1BHY (18.54h5)
2 Lo K - BT B = B M - W E E %
REEHE >4 b2 2
H 1.00 3,616.00 3,616 2.00H / 8H
T FRP D 70PS%E! 3.0t
H 1.00 86, 558. 00 86, 558 8H
=570
A 1.00 52, 300. 00 52, 300
RIS AT
A 1.00 41,100. 00 41,100
REBF
A 2.00 34, 900. 00 69, 800
AN EXZNOY
% 2.00 253, 374.00 5,067
& B 1YEZRES - 18.504h = 13, 969. 00 258, 441
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#=:1-10
&% BWTI 00 FUBAERANERQ 1B8Y (21#R)
% i Mg - R TiE BfL =S B i = " &
REE Z4 b2 2L
=] 1.00 3,616.00 3,616/2.00H / 8H
FEM FRP D 70PS#! 3.0t
=] 1.00 86, 558. 00 86, 558|8H
B2 Am
A 1.00 52, 300. 00 52, 300
R E A
A 1.00 41,100. 00 41,100
HEBF
A 2.00 34, 900. 00 69, 800
A EX:YOV!
% 2.00 253, 374.00 5, 067
=) & EXBED - 21,003 = 12, 306. 00 258, 441
5 :1-1
£ YT I 00 b URERBER 1A%Y (18.5:)
% i Mg - AR TiE BfL =S B i = ]
REE Z4 b2 2L
=] 1.00 3,616.00 3,616/2.00H / 8H
REM FRP D 70PS#! 3.0t
=] 1.00 86, 558. 00 86, 558|8H
ek 30
A 1.00 52, 300. 00 52, 300
R E XA
A 1.00 41,100. 00 41,100
HEBF
A 2.00 34, 900. 00 69, 800
A EX:YOV!
% 2.00 253, 374.00 5, 067
=) & 1EXBES - 18.50i 13,969. 00 258, 441
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TH7HE ZABRERE

H5 :1-12
B . T R HENERER R 1BHY (9.545)
% 73 R - BIRTiE B = B £ = B &
REE 54 kY 2L
=] 1.00 3,616.00 3,616/2.00H / 8H
AEMm FRP D 70PSZ! 3.0t
=] 1.00 86, 558. 00 86, 558 8H
Bl HEm
A 1.00 52, 300. 00 52, 300
B EHEnE
A 1.00 41, 100. 00 41,100
BEBF
A 2.00 34, 900. 00 69, 800
HME 2EDY
% 2.00 253, 374. 00 5,067
= g YEZERED ;0. 504 & 217,204. 00 258, 441
H5 :1-13
L EEH R AT HRER 184Y (7.7#hE)
% 73 R - BIRTiE B3 = B £ = B &
REE 4 kN2 2L
=] 1.00 3,616.00 3,616/2.00H / 8H
AEMm FRP D 70PSZE! 3.0t
=] 1.00 86, 558. 00 86, 558 8H
Bl HEm
A 1.00 52, 300. 00 52, 300
Bl EHENE
A 1.00 41, 100. 00 41,100
BKE(F A=) 10mK %
A 1.00 52, 700. 00 52, 700
BKTHEE (A4 /3—) 10m& 7%
A 1.00 52, 700. 00 52, 700
rtmEyY s
A 1.00 28, 700. 00 28, 700
HME 2EDY
% 2.00 317, 674.00 6, 353
= g YEZERED 7. 7035 42,081.00 324,021
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5 1-14
& SRR @WITI0Y FURE) X5y
% i RE - MR BfL =S B i i = ® =
HTEER BTS00 FURE
= 1.00 1, 734, 000. 00 1,734,000
& & EEHED - 1.00 1, 734, 000. 00 1,734,000
5 :1-15
A SR BWITIY FURE) X5y
% 4 RAE - MR BfL =S B i i = " =
HTEER EHMITSoy bURE
= 1.00 1, 237, 680. 00 1,237, 680
& &t EERED - 1,00 1, 237, 680. 00 1,237, 680
5 . 1-16
&% SRR (7Y RGN ERE) X5y
% 4 RE - MR BfL =S B i i = & =
HTEER TH Y EENERE
= 1.00 368, 000. 00 368, 000
& & EEHED - 1,00 368, 000. 00 368, 000
&5 1-17
&% SER (FYUBERRAE) X5y
% i Mg - R TiE BfL =S B (i i = & =
HTEER THUBEHRRE
= 1.00 2, 560, 800. 00 2, 560, 800
& &t EERED - 1,00 2, 560, 800. 00 2, 560, 800
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&5 :1-18
& REFHES AR 1RXHY
% 73 R - BIRTiE B = B £ = B &
Bl HEm
A 1.00 52, 300. 00 52, 300
B EHENH
A 1.00 41, 100. 00 41,100
HME 2EDY%
% 0.50 93, 400. 00 467
= g YEZERED 1. 00 93, 867. 00 93, 867
H5:1-19
B FOREERE 1B4Y (T#hH)
% 73 R - BIRTE B = B £ W = B &
REE 54 kY 2L
=] 1.00 3,616.00 3,616/2.00H / 8H
R FRP D 70PSZ!
=] 1.00 86, 558. 00 86, 558 8H
Bl HEm
A 1.00 52, 300. 00 52, 300
B EHENE
A 1.00 41, 100. 00 41,100
HIEBF
A 1.00 34, 900. 00 34, 900
RIEHEE
A 2.00 28, 700. 00 57, 400
BKE(F A=) 10mK %
A 1.00 52, 700. 00 52, 700
BKTHEE (A4 /3—) 10m& 57
A 1.00 52, 700. 00 52, 700
rtmEyYE
A 1.00 28, 700. 00 28, 700
HME 2EDY
% 10. 00 409, 974. 00 40, 997
= g YEZERED  7.003h = 64, 424. 00 450, 971
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HF5:1-20
25 R R 1HHY (3. 1#H)
% 73 R - BIRTiE B H 2 B & = B &
REE 54 kN2 2L
=] 1.00 3,616.00 3,616/2.00H / 8H
R FRP D 70PSZ!
=] 1.00 86, 558. 00 86, 558 8H
Bl HEm
A 1.00 52, 300. 00 52, 300
B EHEnH
A 1.00 41, 100. 00 41,100
BKE(F A=) 10mK %
A 1.00 52, 700. 00 52, 700
BKTHEE (A4 /3—) 10m& 57
A 1.00 52, 700. 00 52, 700
rtmEYE
A 1.00 28, 700. 00 28, 700
HME 2EDY
% 10. 00 317, 674.00 31, 767
= g YEZEREDN 3. 10 A 112, 722.00 349, 441
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H5 :1-21
&% REEHEE 1B4Y (T#hA)
% 73 R - BIRTiE B = B & = B &
REE 54 kN2 2L
=] 1.00 3,616.00 3,616/2.00H / 8H
R FRP D 70PSZ!
=] 1.00 86, 558. 00 86, 558 8H
Bl HEm
A 1.00 52, 300. 00 52, 300
B EHENE
A 1.00 41, 100. 00 41,100
BIEBF
A 1.00 34, 900. 00 34,900
BIEHEE
A 2.00 28, 700. 00 57, 400
BKE(F A=) 10mK %
A 1.00 52, 700. 00 52, 700
BKTHEE (A4 /3—) 10m& 578
A 1.00 52, 700. 00 52, 700
rtmEyYE
A 1.00 28, 700. 00 28, 700
HME 2EDY
% 10. 00 409, 974. 00 40, 997
= g YEZERED  7.003h = 64, 424. 00 450, 971
H5:1-22
¥ BAIRREER 1RXHY
% 73 R - BIRTiE B = B & = B &
BHARE
=® 1.00 639, 000. 00 639, 000
= it YEZERED 1. 00K 639, 000. 00 639, 000
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2 :1-23
B RRERFEAT NEED)
£ i g - IRk Bifig g B % bit7 " &=
A (B)
A 0.90 48,500. 00 43, 650
BeEm (C)
A 0.50 40, 300. 00 20, 150
BT g
A 0.50 36, 100. 00 18, 050
% 1.00 8, 160. 00 8, 160
EEARE HEBEDY
% 4.00 81, 850. 00 3,274
& F EREH - 1.00fB 93, 284. 00 93, 284
EE:1-24
2% FIFRRE H=ED
£ i g - IRk Bifig g B %8 it7 i =
RE M #8D 150PSE! 15.0t
A 3.00 142, 920. 00 428, 760|8H
B2 HER
A 1.00 52, 300. 00 52, 300
B 2 H R
A 1.00 41,100. 00 41,100
AEHF
A 2.00 34,900. 00 69, 800
REREERAR KDY
% 140. 00 591, 960. 00 828, 744
& & YEZREH - 1.00[E 1, 420, 704. 00 1,420, 704
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H5 :1-25
2 . BATHE HEED)
£ 7 R - KT B = i | W = B &
B FEHE
A 1.00 60, 600. 00 60, 600
B EHER
A 0.50 52, 300. 00 26, 150
RIS
A 0.50 41, 100. 00 20, 550
= it YEZHER - 1.00[E 107, 300. 00 107, 300
H5 :1-26
&F : hERE 1EHY
£ 7 R - KT B = fili | W = B &
B FEHE
A 0.50 60, 600. 00 30, 300
B EHER
A 0.50 52, 300. 00 26, 150
B EFEDE
A 0.50 41, 100. 00 20, 550
= it 1YEZAER - 1.00[E 71, 000. 00 71,000
&5 1-27
B mRRBRE HEED)
£ 5 R - KT B = fili | W = B &
B FEHE
A 0.50 60, 600. 00 30, 300
B EHER
A 0.50 52, 300. 00 26, 150
B EFEE
A 0.50 41, 100. 00 20, 550
= it 1YEZHER : 1.00[E 71, 000. 00 71,000
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TH7HE ZABRERE

BE5 :1-28
L EBBRR 14y
£ 7 R - KT B = BO(f | W = B &
EBHERRE
= 1.00 200, 000. 00 200, 000
& it 1E%HEH - 1.00K 200, 000. 00 200, 000
BE5 :1-29
& BREESRRK 14y
£ 5 R - KT B = BO(f - W = B &
TEERM FRP D 180PSZY
=] 14.00 164, 307. 00 2,300, 298 6.00H / 8H
AN 2E0%
% 0.50 2, 300, 298. 00 11, 501
& B 1YEZHEH - 1.00X 2,311,799.00 2,311,799
5 :1-30
&% BEIERERAE 14y
£ r R - KT B = BOf | W E & &
MEIEERE RIEEYRE
= 1.00 45, 000. 00 45, 000
& it 1E%HEH - 1.00X 45, 000. 00 45, 000
H5:2-1
& AERHREDOER HROERE REEED
£ r R - KT B = BOf 2 W E 5 &
FIEBAR GEED
A 1.00 66, 900. 00 66, 900
AR (A)
A 1.50 59, 600. 00 89, 400
HEf (C)
A 1.00 40, 300. 00 40, 300
Hitt &
A 2.00 36, 100. 00 72, 200
& B 1YE%HEN - 1.001EH 268, 800. 00 268, 800
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55 :2-2
25 BHOMER H=ED)
% 73 R - BIRTiE B = i £ = B &
EX T TC )
A 1.00 66, 900. 00 66, 900
A (A)
A 1.50 59, 600. 00 89, 400
A (B)
A 1.00 48, 500. 00 48, 500
HEm (C)
A 1.50 40, 300. 00 60, 450
Hitrg
A 1.00 36, 100. 00 36, 100
& i E%8eH - 1.00E 301, 350. 00 301, 350
H5:2-3
£ REASEEHEY FEREE H=ED)
% 5 R - BIRTiE B = i £ = % &
EX T AC )
A 1.00 66, 900. 00 66, 900
A (A)
A 1.00 59, 600. 00 59, 600
A (B)
A 1.00 48, 500. 00 48, 500
HEm (C)
A 1.00 40, 300. 00 40, 300
& it E%8e - 1.00H 215, 300. 00 215, 300
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H5:2-4
B BROERKR HEED)
£ 7 R - KT B = BO(f | # B &
FEBER GEED
A 1.00 66, 900. 00 66, 900
AR (A)
A 1.50 59, 600. 00 89, 400
AR (B)
A 1.00 48, 500. 00 48, 500
HEf (C)
A 1.50 40, 300. 00 60, 450
Hitt &
A 1.00 36, 100. 00 36, 100
& B 1YEZHER - 1.00[E 301, 350. 00 301, 350
HE5 :2-5
M TV IRE 1H#fEY
£ r R - BAKTiE B = BO(f | # B &
FIEBAR GEED
A 1.00 66, 900. 00 66, 900
AR (A)
A 1.00 59, 600. 00 59, 600
HEf (C)
A 1.00 40, 300. 00 40, 300
& it 1YEZHEH 1. 00 FRr 166, 800. 00 166, 800
H5 :2-6
&% AFEARER 14y
£ r R - BAKTiE B = BOf | 1 B &
HEf (C)
A 0.50 40, 300. 00 20, 150
& it 1E%HEH - 1.00K 20, 150. 00 20, 150
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&H5:2-1
£ BHEARE XY
£ (i1 R - BAKTiR Bifis =S i %8 & i %
EERARE
= 1.00 12, 737.00 12, 737
& it 1YEZHEH - 1.00K 12, 737.00 12, 737
H5 :2-8
& REFY N
£ R R - BIKTiR Bifig =S i %8 i w %
ZFEF O EHES
= 1.00 29, 700. 00 29,700
FEFZQ E7UYT
= 1.00 14, 700. 00 14,700
& &t fEZHEH ;- 1.00=X 44, 400. 00 44, 400
H5:2-9
2 - RPN =&Y
£ (] R - BIKTiR Bifig =S fii %8 i E %
RIGERDO EHES
= 1.00 16, 036. 00 16, 036
RIGERO E7UYT
= 1.00 10, 272. 00 10, 272
& it 1EZHEH - 1.00K 26, 308. 00 26, 308
= :2-10
£ RE XY
£ (i1 R - BAKTiR Bifig =S fii %8 i E %
ZERED EHES
= 1.00 15, 816. 00 15, 816
ZEREQ E7UYT
= 1.00 980. 00 980
& B 1YE%HEH - 1.00K 16, 796. 00 16, 796
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Bh
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A 1.00 26, 700. 00 26, 700
BH (v o [EER]D 2tE
R 4.70 273. 00 1,283 EERRER
BH (v o [EER]D 2t
B 1.13 2, 730. 00 3,084 #®EA
& it 33,794
HiRES : 1-2
BEREM : XBE 54 kY 2L 1H%Y 6.00H / 8H
% 73 R - BIRTiE Bf % =B B i ) = B &
AU
L 20. 00 166. 00 3,320
B (A4 MNAVI[AVIDIUDY - Ty RETEANE HRE2.0L
EREH]) B 6. 00 287. 00 1,722 EELRER
B (SA MNUIHVYUIUSY - T REFELNE HRE2.0L
EREA]) B 1.19 1, 580. 00 1, 880 #“EA
& it 6, 922
HiXRES : 1-3
BEREM : XBE S4 bY 2L 1B%Y 2.00H / 8H
%4 5 R - BIRTiE B % = B i ) = & &
AU
L 7.00 166. 00 1,162
B (A4 N V[AVIDIUDY - Ty RETEANE HRE2.0L
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